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Read the following passage and answer the next five questions by choosing the correct options:

Multicultural emphasises the importance of cultural diversity. It recognises the dignity and importance of
cultural distinctiveness. It reiterates that cultural differences are natural phenomena. Cultural diversity,
diverse ideas, perspectives and beliefs enhance our vision of a better society. Multiculturalism stands for
heterogeneity and diversity. It is an inclusive process in which all cultures are valued.

In India, munigration and multiculturalism are as old as recorded history. Since time immemorial, wave after
wave of ethnically and culturally diverse people have poured into India. settled here, and assimilated mto its
mosaic. Each community, while interacting and being influenced by the others, retained its own identity,
customs, beliefs and ways of life. It has truly been said that Indian culture is a "culture of cultures’. like a
bechive of interlocking cells.

Hinduism has played a seminal role m shaping the Indian mind and character. It has dogma. no prophet. no
single sacred book. It believes in freedom of thought and expression. It encompasses different forms of
belief: monotheism, polytheism, agnosticism as well as atheism. Hinduism is also the foundation of a general
sprit of tolerance and acceptance of the 'other', the belief that different paths can lead to the same goal.
Himduism's flexibility has endowed Indian civilisation with a unique resilience and power of absorptive
survival.

The 700 years of Muslim rule from the 11-12th century bequeathed a mixed legacy. Politically. Islam in
India represented subjugation. But culturally. it generated outstanding creative achievement and synthesis.
The centuries of Muslim rule impacted all aspects of Indian life producing a composite Indi-Islamic culture.

British colonial rule replaced Muslim rule, adding one more layer to India's plural personality. India's
exposure to the West was both debilitating and nourishing. On the one hand, colonial rule devalued Indian
civilisation by claiming and justifying "civilising mission’ of British. On the other hand, the work of great
European Ideologists helped India rediscover her classical literature, her forgotten wisdom and values.

It 18 striking how the intellectual journey of the leaders of the Indian renaissance went from India to the the
West, before returning to India with a new-found sense of Indianness. All of them represented a mingling of
East and West, a synthesis of European and Indian thought.

This was the background to the emergence of an independent. democratic India in 1947, after the bloodbath
of Partition. We are the most complex and diverse society on earth. Today's India has over a billion Hindus,
150 million Muslims. 24 million Christians and 24 million Sikhs, apart from several smaller but important
denominations. In addition to English and Hindi, we speak more than 20 major languages and some 22,000
dialects. Each religion is further sliced and diced by caste. sub-caste and region. There are also thousands of
tribal groups with distinet ethnic and cultural identities. Each of India's states has its own centuries-old
flourishing culture, with further internal diversions.

Sub questions

Question Number : 1 Question Id : 6863408908 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT to explain the terms in List IT

LISTI LIST IT
A DMonotheism 1. |An abzence of belief in the existence of deities.
B [Polytheism II. [The belief that the existence of God is unknown or unkonwable.
C. |Agnosticism | IIL |A doctrine or belief that there is only one God.
D. |Atheism IV |A belief in the worship of more than one God.

Choose the correct answer from the options given below:

1. A-III. B-1. C-IV. D-IT

| B

AL B-IV, C-IT, D-1
3. A-IV. B-III. C-I. D-II
4. A-I1L B-1V. C-1I1, D-1

Options :

68634035201. 1
68634035202. 2
68634035203. 3
68634035204. 4

Question Number : 2 Question Id : 6863408909 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is not a feature of multiculturalism?
1. It reiterates that cultural differences are a natural phenomena.
2. It stands for the intermixture and diversity of cultures.
3. It is an inclusive process in which all cultures are valued.
4. It recognizes the decorum and significance of cultural similarities.
Options :
68634035205. 1
68634035206. 2

68634035207. 3
68634035208. 4

Question Number : 3 Question Id : 6863408910 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The writer says that Indian "culture is a culture of cultures like a beeluve of mterlocking cells." By this he
means.

1. Each culture 1s affected by the other cultures that it comes into contact with and so 1s Indian culture.

| B

. Indian culture is very intricate and obscure like a beehive.

LF¥]

. Diverse cultures and ethnicities are woven nto the fabric of Indian culture. each retaiming therr
individual identity.

4. Indian culture is the outcome of immigration by different people from tume immemorial.

Options :

68634035209. 1
68634035210. 2
68634035211. 3
68634035212. 4

Question Number : 4 Question Id : 6863408911 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The colomial rule in India. while justifying its "Civilising mission” also helped India rediscover her literature,
wisdom and values. The statement affirms that:

1. India stood to advantage as she was duly civilized by the west.

| )

. The colonial influence only added another layer to India's already plural personality.

. The West exposed India's inequality to hold on to its heritage of literature, wisdom and values.

Lad

4. India's exposure to the West was progressive in one way.

Options :

68634035213. 1
68634035214. 2
68634035215. 3
68634035216. 4

Question Number : 5 Question Id : 6863408912 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII

: . A 1ded the rediscovery of classical literature, forgotten
A Hinduism i - - =
wisdom and values.

Leaders of Indian ) : . .
E. ; II. |Led to outstanding creative achievement and synthesis.
F ennaissance = =

Plaved a seminal role in shaping Indian mind and

C. |[European Endologists I1L.
character.

D Mixed legacy of Muslim

Neute IV. Represented a svnthesis of European and Indian thought.

Choose the correct answer from the options given below:

1. A-II. B-1. C-II. D-IV

[ B

AL B-IV. C-1 D-II
3. A-IL B-IV. C-I, D-III
4. A-I B-III, C-IV, D-1I

Options :

68634035217. 1
68634035218. 2
68634035219. 3
68634035220. 4

Question Id : 6863408907 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Read the following passage and answer the next five questions by choosing the correct options:

Multicultural emphasises the importance of cultural diversity. It recognises the dignity and importance of
cultural distinctiveness. It reiterates that cultural differences are natural phenomena. Cultural diversity,
diverse ideas, perspectives and beliefs enhance our vision of a better society. Multiculturalism stands for
heterogeneity and diversity. It is an inclusive process in which all cultures are valued.

In India, munigration and multiculturalism are as old as recorded history. Since time immemorial, wave after
wave of ethnically and culturally diverse people have poured into India. settled here, and assimilated mto its
mosaic. Each community, while interacting and being influenced by the others, retained its own identity,
customs, beliefs and ways of life. It has truly been said that Indian culture is a "culture of cultures’. like a
bechive of interlocking cells.

Hinduism has played a seminal role m shaping the Indian mind and character. It has dogma. no prophet. no
single sacred book. It believes in freedom of thought and expression. It encompasses different forms of
belief: monotheism, polytheism, agnosticism as well as atheism. Hinduism is also the foundation of a general
sprit of tolerance and acceptance of the 'other', the belief that different paths can lead to the same goal.
Himduism's flexibility has endowed Indian civilisation with a unique resilience and power of absorptive
survival.

The 700 years of Muslim rule from the 11-12th century bequeathed a mixed legacy. Politically. Islam in
India represented subjugation. But culturally. it generated outstanding creative achievement and synthesis.
The centuries of Muslim rule impacted all aspects of Indian life producing a composite Indi-Islamic culture.

British colonial rule replaced Muslim rule, adding one more layer to India's plural personality. India's
exposure to the West was both debilitating and nourishing. On the one hand, colonial rule devalued Indian
civilisation by claiming and justifying "civilising mission’ of British. On the other hand, the work of great
European Ideologists helped India rediscover her classical literature, her forgotten wisdom and values.

It 18 striking how the intellectual journey of the leaders of the Indian renaissance went from India to the the
West, before returning to India with a new-found sense of Indianness. All of them represented a mingling of
East and West, a synthesis of European and Indian thought.

This was the background to the emergence of an independent. democratic India in 1947, after the bloodbath
of Partition. We are the most complex and diverse society on earth. Today's India has over a billion Hindus,
150 million Muslims. 24 million Christians and 24 million Sikhs, apart from several smaller but important
denominations. In addition to English and Hindi, we speak more than 20 major languages and some 22,000
dialects. Each religion is further sliced and diced by caste. sub-caste and region. There are also thousands of
tribal groups with distinet ethnic and cultural identities. Each of India's states has its own centuries-old
flourishing culture, with further internal diversions.

Sub questions

Question Number : 1 Question Id : 6863408908 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT to explain the terms in List IT

LISTI LIST IT
A DMonotheism 1. |An abzence of belief in the existence of deities.
B [Polytheism II. [The belief that the existence of God is unknown or unkonwable.
C. |Agnosticism | IIL |A doctrine or belief that there is only one God.
D. |Atheism IV |A belief in the worship of more than one God.

Choose the correct answer from the options given below:

1. A-III. B-1. C-IV. D-IT

| B

AL B-IV, C-IT, D-1
3. A-IV. B-III. C-I. D-II
4. A-I1L B-1V. C-1I1, D-1

Options :

68634035201. 1
68634035202. 2
68634035203. 3
68634035204. 4

Question Number : 2 Question Id : 6863408909 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is not a feature of multiculturalism?
1. It reiterates that cultural differences are a natural phenomena.
2. It stands for the intermixture and diversity of cultures.
3. It is an inclusive process in which all cultures are valued.
4. It recognizes the decorum and significance of cultural similarities.
Options :
68634035205. 1
68634035206. 2

68634035207. 3
68634035208. 4

Question Number : 3 Question Id : 6863408910 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The writer says that Indian "culture is a culture of cultures like a beeluve of mterlocking cells." By this he
means.

1. Each culture 1s affected by the other cultures that it comes into contact with and so 1s Indian culture.

| B

. Indian culture is very intricate and obscure like a beehive.

LF¥]

. Diverse cultures and ethnicities are woven nto the fabric of Indian culture. each retaiming therr
individual identity.

4. Indian culture is the outcome of immigration by different people from tume immemorial.

Options :

68634035209. 1
68634035210. 2
68634035211. 3
68634035212. 4

Question Number : 4 Question Id : 6863408911 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The colomial rule in India. while justifying its "Civilising mission” also helped India rediscover her literature,
wisdom and values. The statement affirms that:

1. India stood to advantage as she was duly civilized by the west.

| )

. The colonial influence only added another layer to India's already plural personality.

. The West exposed India's inequality to hold on to its heritage of literature, wisdom and values.

Lad

4. India's exposure to the West was progressive in one way.

Options :

68634035213. 1
68634035214. 2
68634035215. 3
68634035216. 4

Question Number : 5 Question Id : 6863408912 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
i . 1A 1ded the redizscovery of classical literature, forootten
A, Hinduism i 3 - =
wisdom and values.
E. Leader_s bif Wit II. [Led to outstanding creative achievement and synthesis.
B ennaissance = =

¢ umpens bidibomie e Plaved a seminal role in shaping Indian mind and
character,
Mixed legacy of Mushm

rule

IV Represented a svnthesis of European and Indian thought.

Choose the correct answer from the options given below:

1. A-I1. B-L. C-II, D-IV
2. A-IIL B-TV. C-1. D-IT
3. AL B-IV. C-1. D-ITT
4. A-1. B-IL. C-IV, D-11

Options :

68634035217. 1

68634035218. 2

68634035219. 3
68634035220. 4

Sub-Section Number : 2
Sub-Section Id : 686340290
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 6863408913 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Choose the correct option which improves the sentence grammatically.
He saw looking through the window, the beggar standing right there.
1. He saw the beggar looking through the window. standing right there.
2. He looking through the window saw the beggar standing right there.
3. Looking through the window, he saw the beggar standing right there.
4. No improvement.
Options :
68634035221. 1
68634035222. 2

68634035223. 3
68634035224. 4



Question Number : 6 Question Id : 6863408913 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correct option which improves the sentence grammatically.

He saw looking through the window, the beggar standing right there.

1. He saw the beggar looking through the window. standing right there.

[ )

. He looking through the window saw the beggar standing right there.

L]

. Looking through the window, he saw the beggar standing right there.
4. No improvement.

Options :

68634035221. 1
68634035222. 2
68634035223. 3
68634035224, 4

Question Number : 7 Question Id : 6863408914 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Prachi knows all the most recent facts about politics. The suitable phrasal verbs for underlined part is:

1. keeps abreast of

b2

. settless an account
3. runs amok

4, malkes amends

Options :

68634035225 1
68634035226. 2
68634035227. 3
68634035228. 4

Question Number : 7 Question Id : 6863408914 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Prachi knows all the most recent facts about politics. The suitable phrasal verbs for underlined part is:

1. keeps abreast of
2. settless an account
3. runs amok
4. makes amends
Options :
68634035225. 1
68634035226. 2

68634035227. 3
68634035228. 4

Question Number : 8 Question Id : 6863408915 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT MAtch the classes used in list I with their type in list IT.

LISTI LISTII
A |The students who misbehaved in class were suspended. | T |Adverb clause of time
B. |Because she was in an irritable mood, I left her alone. | II. JAdverb clause of reazony
C. |He has been jobless since he left Delhi. ITT. Noun clause
D.

The gardener zaid that all the plants had been pruned. | IV. JAdjective clause

Choose the correct answer from the options given below:

1. A-II. B-IV, C-IV. D-I
2. A-IV. B-11, C-I. D-III
3. ATV, B-II, C-T1, D-TI
4. A-IL. B-I. C-IV. D-III

Options :

68634035229. 1

68634035230. 2

68634035231. 3
68634035232. 4

Question Number : 8 Question Id : 6863408915 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT MAtch the classes used in list I with their type in list IL

LISTI LISTII
A |The students who misbehaved in class were suspended. | I JAdverb clause of time
B. |Because she was in an irritable mood. I left her alone. | II. JAdverb clause of reason)
C. |He has been jobless since he left Delhi. IIL. Noun clause
D. |The gardener said that all the plants had been pruned. | IV, JAdjective clause

Choose the correct answer from the options given below:

1. A-II, B-IV. C-IV. D-I

[

CA-IV. B-11L C-1. D-III
3. ATV, B-II, C-II. D-TI
4. A-II. B-I. C-IV, D-III

Options :

68634035229. 1
68634035230. 2
68634035231. 3
68634035232. 4

Question Number : 9 Question Id : 6863408916 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Out of the following options choose the correct sentence:

1. Background music, such ag Mozart's Symphony positively effects the cognitive abilities of many
students while it has a contrary affect on some others.

| B

. Background music. such as Mozort's symphony positively effects the cognitive abilities of many students
while it has a contrary effect on many others.

3. Background music. such as Mozort's symphony positively affects cognitive abilities of many students
while it has a contrary effect on many others.

4. Backeround music. such as Mozort's symphony positively affects cognitive abilities of many students
while it has a contrary effect on many others.

Options :

68634035233. 1
68634035234, 2
68634035235. 3
68634035236. 4

Question Number : 9 Question Id : 6863408916 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Out of the following options choose the correct sentence:

1. Background music, such ag Mozart's Symphony positively effects the cognitive abilities of many
students while it has a contrary affect on some others.

-

. Background music. such as Mozort's symphony positively effects the cognitive abilities of many students
while it has a contrary effect on many others.

3. Background music. such as Mozort's symphony positively affects cognitive abilities of many students
while it has a contrary effect on many others.

4. Background music. such as Mozort's symphony pesitively affects cognitive abilities of many students
while it has a contrary effect on many others.

Options :

68634035233. 1
68634035234. 2
68634035235. 3
68634035236. 4

Question Number : 10 Question Id : 6863408917 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correctly spelt word the given options:-

1. SPECOLATE
2. SPAECULATE
3. SPECULATE
4. SPEACULATE

Options :

68634035237. 1

68634035238. 2

68634035239. 3
68634035240. 4

Question Number : 10 Question Id : 6863408917 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correctly spelt word the given options:-

1. SPECOLATE

J

. SPAECULATE
3. SPECULATE

4. SPEACULATE

Options :

68634035237. 1
68634035238. 2
68634035239. 3
68634035240. 4

Question Number : 11 Question Id : 6863408918 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Evaluate

tan 55%  sin 33" sec 497
- -

cot 35%  cos 5T cosecdl®

1.2

| ]
bk

L
L%

4.0

Options :

68634035241. 1
68634035242. 2
68634035243. 3
68634035244. 4

Question Number : 11 Question Id : 6863408918 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Evaluate

tan 55  sin 33° sec 49°
+ +

cot 35 cos57° cosecdl®

1.2

[ )
bk

4.0

Options :

68634035241. 1
68634035242. 2
68634035243. 3
68634035244. 4

Question Number : 12 Question Id : 6863408919 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A man covers a distance of 12km by walking at a speed of 4km/h. How much distance (in ki) would he
cover in the same time. if he walks at a speed of 6 km'h ?

2. 18
3. 16
4. 15

Options :

68634035245. 1
68634035246. 2
68634035247. 3
68634035248. 4

Question Number : 12 Question Id : 6863408919 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A man covers a distance of 12km by walking at a speed of 4kain'h. How much distance (in kin) would he
cover in the same tune. if he walks at a speed of 6 km/h ?

2. 18
3. 16
4. 15

Options :

68634035245. 1
68634035246. 2
68634035247. 3
68634035248. 4

Question Number : 13 Question Id : 6863408920 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A sum becomes 5 times of itself at 10% per annum simple mnterest. At what rate of simple interest will it
becomes 10 times during the same period?

1. 18.5%

LFY]
[
=
=
a5

4.19%

Options :

68634035249. 1
68634035250. 2
68634035251. 3
68634035252. 4

Question Number : 13 Question Id : 6863408920 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A sum becomes 5 times of itself at 10% per annum simple interest. At what rate of simple interest will it
becomes 10 times during the same period?

1. 18.5%

Options :

68634035249. 1
68634035250. 2
68634035251. 3
68634035252. 4

Question Number : 14 Question Id : 6863408921 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the side of a cube is increased by 25% then volume of the cube will increase by (correct to one decimal
place):

1.25.5%

[ BN}
o
=
[ ]

=]
=

LF¥]
=)
L
o

-2

4.125.9%

Options :

68634035253. 1
68634035254. 2
68634035255. 3
68634035256. 4

Question Number : 14 Question Id : 6863408921 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the side of a cube is increased by 25% then volume of the cube will inerease by (correct to one decimal
place):

1.25.5%

| BA]
L=l
=
| g

=]
i

[F¥]
=
n
L
iy



Options :

68634035253. 1
68634035254. 2
68634035255. 3
68634035256. 4

Question Number : 15 Question Id : 6863408922 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A man buys two watches for Rs1750. He sells the first one at a loss of 109 while on the second he earns a
ki
profit of 15%. If one the whole he gets no profit no loss then what is the cost of cheaper watch?

1.37

[

0

[ ]

700

LF¥]
A
L=}
=
o)

4. 3550

Options :

68634035257. 1
68634035258. 2
68634035259. 3
68634035260. 4

Question Number : 15 Question Id : 6863408922 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A man buys two watches for Rs1750. He sells the first one at a loss of 10% while on the second he earns a
profit of 15%. If one the whole he gets no profit no loss then what is the cost of cheaper watch?

1. 37

Ly

0

[ )

. 2700

. ZB00

[F¥]

4. 3550

Options :

68634035257. 1
68634035258. 2
68634035259. 3
68634035260. 4

Question Number : 16 Question Id : 6863408923 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In a certam code language. HEAT 18 written as SVZG, then what will be the code of WILD?

1. DMOW

J

. DROW
3. RDOW

4. KPOW

Options :

68634035261. 1
68634035262. 2
68634035263. 3
68634035264. 4

Question Number : 16 Question Id : 6863408923 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In a certam code language. HEAT 18 written as SVZG, then what will be the code of WILD?

1. DMOW
2. DROW
3. RDOW
4. KPOW

Options :

68634035261. 1

68634035262. 2

68634035263. 3
68634035264. 4

Question Number : 17 Question Id : 6863408924 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S. the son-in-low of Q. is the brother-in-low of P who is the brother of R. How is P related to Q7
1. Brother
2. Son
3. Father
4. Sister
Options :

68634035265. 1
68634035266. 2



68634035267. 3
68634035268. 4

Question Number : 17 Question Id : 6863408924 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S. the son-in-low of Q. is the brother-in-low of P who is the brother of R. How is P related to Q7
1. Brother
2. Son

3. Father

4. Sister

Options :

68634035265. 1
68634035266. 2
68634035267. 3
68634035268. 4

Question Number : 18 Question Id : 6863408925 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of these conclusion detinitely follows from the given statement.

Statement: In a test cricket match. the total runs made by a team were 500. Out of those 380 runs made by
spinners.

Conclusion:
I. 60% of the team consists of spinners.
I1. The openmg batsmen were spinners.

1. Only conclusion I follows
2. Only Conclusion II follows
3. Either I or IT follows

4. Neither I nor IT Follows

Options :

68634035269. 1
68634035270. 2
68634035271. 3
68634035272. 4

Question Number : 18 Question Id : 6863408925 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of these conclusion definitely follows from the given statement.

Statement: In a test cricket match. the total runs made by a team were 500. Out of those 380 runs made by
spinners.

Conclusion:
I. 60% of the team consists of spinners.
I1. The opening batsmen were spinners,

1. Only conclusion I follows

2. Only Conclusion IT follows

3. Either I or II follows

4. Neither I nor II Follows

Options :

68634035269. 1
68634035270. 2
68634035271. 3
68634035272. 4

Question Number : 19 Question Id : 6863408926 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the number which 18 different from others in the group.

523.734.981.853.648

1. 734

-

. 981
3..853

4. 648

Options :

68634035273.
68634035274.
68634035275.
68634035276.

AW N~

Question Number : 19 Question Id : 6863408926 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the number which is different from others in the group.
523.734,981.853.648

1. 734

-

. 981
3. 833

4. 648

Options :

68634035273.
68634035274,
68634035275.
68634035276.

D W N —

Question Number : 20 Question Id : 6863408927 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two positions of a dice are shown below. When number 1 is on the top, what number will be at the bottom?

> ;

faa
L

4.6

Options :

68634035277. 1
68634035278. 2
68634035279. 3
68634035280. 4

Question Number : 20 Question Id : 6863408927 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Two positions of a dice are shown below. When number 1 1s on the top. what number will be at the bottom?

© ;

| S
L]

faa
L

4.6

Options :

68634035277. 1
68634035278. 2
68634035279. 3
68634035280. 4

Question Number : 21 Question Id : 6863408928 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Through which of these straits the International Date Line passes?

1. Malaecca straits

{S]

. Strait of Hormuz
3. Bering strait
4. Torres strait

Options :

68634035281. 1
68634035282. 2
68634035283. 3
68634035284. 4

Question Number : 21 Question Id : 6863408928 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Through which of these straits the International Date Line passes?
1. Malaecca straits
2. Strait of Hormuz
3. Bering strait
4. Torres strait

Options :

68634035281. 1
68634035282. 2
68634035283. 3
68634035284. 4

Question Number : 22 Question Id : 6863408929 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List [ with List IT

LIST I (Army Institution) LIST II (Place)
A [National Defence Academy({INDA) I |Dehradun
B. [Indian Military Academy (IMA) II. [Secunderabad
C. National Defence college (NDC) III. [Pune
D. |College of defence management (CDM)| IV, [New Delhi

Choose the correct answer from the options given below:

1. A-IIL. B-1. C-II. D-IV

| )

. A-IIL B-I, C-IV. D-I1
3. A-I. B-III. C-IV. D-II
4. A-I1, B-1, C-IV. D-III

Options :

68634035285. 1
68634035286. 2
68634035287. 3
68634035288. 4

Question Number : 22 Question Id : 6863408929 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST I (Army Institution) LIST IT (Place)
A [National Defence Academv(INDA) 1. |Dehradun
B |Indian Military Academy (IMA) II. |Secunderabad
C. [Marional Defence college (NDC) III. [Pune
D. |College of defence management (CDM)| IV, [New Delhi

Choose the correct answer from the options given below:

1. A-IIIL. B-L. C-I1, D-IV

| )

A-IIL B-I, C-IV, D-IT
3. A-I. B-III, C-1V, D-II
4. A-I1. B-1, C-IV, D-III

Options :

68634035285. 1
68634035286. 2
68634035287. 3
68634035288. 4

Question Number : 23 Question Id : 6863408930 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who among the following has been honored with Major Dhyan Chand Khel Ratna Award 20227

1. Sharath Kamal Achanta
2. Kashinath Singh
3. Ramchandra Shukla
4. Amarkant

Options :

68634035289. 1

68634035290. 2

68634035291. 3
68634035292. 4

Question Number : 23 Question Id : 6863408930 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who among the following has been honored with Major Dhyan Chand Khel Ratna Award 20227

1. Sharath Kamal Achanta

J

. Kashinath Singh
3. Ramchandra Shukla

4. Amarlkant

Options :

68634035289. 1
68634035290. 2
68634035291. 3
68634035292. 4

Question Number : 24 Question Id : 6863408931 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: The fuse wire in an electric circuit saves the circuit from getting overheated.

Statement IT: A fuse is a wire whose resistance is low and melting point is high.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement [ and Statement IT are correct

2. Both Statement I and Statement IT are incorrect

3. Statement [ 13 correct but Statement IT is incorrect

4. Statement [ is incorrect but Statement IT is correct

Options :

68634035293. 1
68634035294, 2
68634035295. 3
68634035296. 4

Question Number : 24 Question Id : 6863408931 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I: The tuse wire in an electric circuit saves the circuit from getting overheated.
Statement II: A fuse is a wire whose resistance i3 low and melting point i high.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement [ and Statement IT are correct

2. Both Statement [ and Statement II are incorrect

3. Statement I 1s correct but Statement II i1s incorrect

4. Statement I is incorrect but Statement II is correct

Options :

68634035293. 1
68634035294. 2
68634035295. 3
68634035296. 4

Question Number : 25 Question Id : 6863408932 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct statements.

A. The president is the ex-officio chairman of National development council (NDC)
B. The NDC was formed in 1952.

C. The NDC was formed to associate the states in the formulations of the plan.

D. Function of NDC was also to review security of borders of India.

Choose the correct answer from the options given below:
1. A and B only
2.B and C only
3. Cand D only

4. A, B. and D only

Options :

68634035297. 1
68634035298. 2
68634035299. 3
68634035300. 4

Question Number : 25 Question Id : 6863408932 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Choose the correct statements.

A. The president 1s the ex-officio chairman of National development council (NDC)
B. The WDC was formed in 1952.

C. The NDC was formed to associate the states i the formulations of the plan.

D. Function of NDC was also to review security of borders of India.

Choose the correct answer from the options given below:

1. A and B only
2.B and C only
3. Cand D only
4. A, B. and D only

Options :

68634035297. 1

68634035298. 2

68634035299. 3
68634035300. 4

Part B: Biochemistry

Section Id : 686340178
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340291
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 6863408933 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The largest membranous cellular organelle is :

1. Mitochondria

2

. Peroxisomes
3. Nucleus
4. Endoplasmic reticulum

Options :

68634035301. 1
68634035302. 2
68634035303. 3
68634035304. 4

Question Number : 26 Question Id : 6863408933 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tad 931 [SIeiigad SIPT 37 6

1. HISCIpial
2. GR3iRIR

3. hud
4. IOso Sfa®T

Options :

68634035301. 1
68634035302. 2
68634035303. 3
68634035304. 4

o

Question Number : 27 Question Id : 6863408934 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following cellular organelle is called as digestive tract of the cell 7

1. Golgi apparatus

| S]

. Peroxisomes
3. Nucleus
4. Lysosomes

Options :
68634035305. 1



68634035306. 2
68634035307. 3
68634035308. 4

Question Number : 27 Question Id : 6863408934 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fefafaa § 9 o1 91 o IR, SR &1 == &9 dedard o2

1. hrd 5.1
2. R
3. boP
4, AR

Options :

68634035305. 1

68634035306 2

68634035307. 3
68634035308. 4

Question Number : 28 Question Id : 6863408935 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mitochondria 1s invelved in -

—

. Oxidative phosphorylation and Beta oxidation

2. Independent protein synthesis

LFN]

. Both (1) and (2)
4. Digestion of lipids and proteins

Options :

68634035309. 1
68634035310. 2
68634035311. 3
68634035312. 4

Question Number : 28 Question Id : 6863408935 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



EePiSal 9T 8 &
1. Ao BapRIEe 3R dieT fadiss= o

. o Ui ISy H

3.13R28H1H

4. Tl siR UidA U= o
Options :
68634035309. 1
68634035310. 2

68634035311. 3
68634035312. 4

| B

Question Number : 29 Question Id : 6863408936 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Size exclusion chromatography or gel filtration chromatography separates proteins based on :

1. Stokes radu

J

. Molecular weight and shape
3.Both 1 and 2

4. Colour

Options :

68634035313. 1
68634035314. 2
68634035315. 3
68634035316. 4

Question Number : 29 Question Id : 6863408936 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TIE S UFhaeE IHCUIG! A1 oid [H&ig (Thece) BIHCHIIG, UIdH &l 59 YR U gUadhd Sl
e

1. Wigg e
. 31fa® YR 3R ATHR
3.1 3R 2 gHI

4ol (@)

b

fea



Options :

68634035313. 1
68634035314. 2
68634035315. 3
68634035316. 4

Question Number : 30 Question Id : 6863408937 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In spectrophotometric measurement of proteins. which of the following amino acids contribute the maximum?
1. Tyrosine. Phenylalanine. Tryptophan
2. Tyrosine, Serine, Threonine
3. Phenylalanme. Alanine. Leucine

4. Histidine, Proline. Tryptophan

Options :

68634035317. 1
68634035318. 2
68634035319. 3
68634035320. 4

Question Number : 30 Question Id : 6863408937 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ui & Wagim e Ao § FafaiEd o 9 o 3 Ul s gaifas e dd € 2
1. TSR, Beuen=H, fepeH
2. TR, R, e
4. TERtS . Ui, feuie

Options :

68634035317. 1
68634035318. 2
68634035319. 3
68634035320. 4

)

Lad

Question Number : 31 Question Id : 6863408938 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



One of the following 1s not related to enzyme linked immunosorbent assay (ELISA)

1. Monoclonal and Polyclonal antibodies

2

. Antigen and Coupling enzyme

L]

. Electrophoresis
4. Secondary antibody

Options :

68634035321. 1
68634035322. 2
68634035323. 3
68634035324. 4

Question Number : 31 Question Id : 6863408938 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fofafad O O $19-91 Ue UeisH Yooy Uiavel Tue HTH94 (Tarsan) 3 defed 38 g2

1. B SR dlcdidd-a wfaxel
2. ifcIo SR g (Ut ToTgH
3. SOFE B RIYY (35gd HU-Hde)
4. T ufaReal

Options :

68634035321. 1
68634035322. 2
68634035323. 3
68634035324. 4

Question Number : 32 Question Id : 6863408939 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If molecular weight of a protein 1s 2.20.000 gm per mole. what would be the number of amino acids in the
protein. assuming mean molecular weight of an amino acid to be 110 gm per mole ?

1. 2200

[ ]

. 2000

. 3300

Lad

4. 200

Options :



68634035325. 1
68634035326. 2
68634035327. 3
68634035328. 4

Question Number : 32 Question Id : 6863408939 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe; U UHIAT 371 &7 9T U] YR 110 U8 UiTHIA € ol U WIcT et U YR 220,000 H UHHI g dl
SUH HHET Sl @ Tt ol givil 2

1. 2200

[ B

. 2000
3. 3300
4,200

Options :

68634035325. 1

68634035326. 2

68634035327. 3
68634035328. 4

Question Number : 33 Question Id : 6863408940 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following statement is mcorrect 7

1. Ramachandran plot is related to protein structure.

J

. Watson and Crick discovered the structure of DNA. proteins and RNA,
3. Calvin cyele mcorporates all the carbon backbone of biomolecules.

4. Both 2 and 3

Options :

68634035329. 1
68634035330. 2
68634035331. 3
68634035332. 4

Question Number : 33 Question Id : 6863408940 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFEfiied S 8 9 H 91 $YF 3§ 2
1. ATE%A Wie UieH Wa-1 9 Hefid 8
2. Greyd 3R e 3 S EA.0., UidH 3R JR.TA.U. &1 @g1 & Gl & |
3. Sica = 1 it 5ia 0[Sl BT Bl SR FHTd ©
4.2 3R 3 M

Options :

68634035329. 1
68634035330. 2
68634035331. 3
68634035332. 4

Question Number : 34 Question Id : 6863408941 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the wrong one out -

1. Nucleotide minus phosphoryl group is nucleoside

-2

. Purines and pyrimidines are double and single ring compounds. respectively.
3. Purines and pyrimidines are linked to sugars by a peptidoglycan bond.
4. Adenosine and Uridine are ribonucleosides.

Options :

68634035333. 1
68634035334. 2
68634035335. 3
68634035336. 4

Question Number : 34 Question Id : 6863408941 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafarad & F TTerd DU &1 90 DI
1. BIEBIRT 90E ed JaaaeEs, Jaaags sidl &
2. TR R RS oo 7§ 90 (Saa ) ok tea 9o (R R a1 T g1
3. g AR RS, T 3 UfpSiarsa o1y RIS 81d ©
4. USANIH 3R gREH. Tsa-geaaass o

Options :




68634035333. 1
68634035334. 2
68634035335. 3
68634035336. 4

Question Number : 35 Question Id : 6863408942 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A phosphodiester bond forms :

—

. Polypeptides

2

. Polynucleotides

LN

. Lipoproteins
4. Oligomers of carbohydrates and lipids

Options :

68634035337. 1
68634035338. 2
68634035339. 3
68634035340. 4

Question Number : 35 Question Id : 6863408942 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BIOpIEIEURR a4 &1d1 o:
1. OTciopTE sy
UldgfeaaeE sy
3. TSI (THHIC)
4. FIEEEseY AR [USy (@9 & ATdrHd (Haad)

[ ]

Options :

68634035337. 1
68634035338. 2
68634035339. 3
68634035340. 4

Question Number : 36 Question Id : 6863408943 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Watson and Crick base pairing is 7

1. Hydrogen bonding in a single DNA strand.

2

. Non-covalent hydrogen bonding between two DNA strands.
3. Van der Waal’s forces between bases.
4. Phorphodiester bonds between nitrogenous bases of opposite strands

Options :

68634035341. 1
68634035342. 2
68634035343. 3
68634035344. 4

Question Number : 36 Question Id : 6863408943 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
areyd 3R [ &1 4R T (49 Ugia) ¢:
1. Uhd SI.UA.U T[S H gIggiol a
G SLUAU IS & dlF f-Headlsl grgg o e
3. 4R (340 & dl9 I F
4. TamRIa Tp! & 31 ATSCIo! &R (§1) P Sl BIREBISRURR T

Options :

68634035341. 1
68634035342. 2
68634035343. 3
68634035344. 4

|

Question Number : 37 Question Id : 6863408944 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The complementary sequence for the DNA stretch 'GATCAATCGAACT'. would be

1. CTAGTTAGCTTGA

J

. CTAGUUTCGUUCT
3. AGTTCGATTGATC

4. AGUUCGAUUGAUC

Options :
68634035345. 1



68634035346. 2
68634035347. 3
68634035348. 4

Question Number : 37 Question Id : 6863408944 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1090 Y21 GATCAATCGAACT BT R 3IHH SIT:
1. CTAGTTAGCTTGA
2. CTAGUUTCGUUCT
3. AGTTCGATTGATC
4. AGUUCGAUUGAUC

Options :

68634035345. 1
68634035346. 2
68634035347. 3
68634035348. 4

Question Number : 38 Question Id : 6863408945 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The two common antioxidants that also act as pro-oxidants in biological systems are

1. Ascorbate and Uric acid

~

2. Ascorbate and Polyphenols
3. Beta carotene and Uric acid

4, Ascorbate and Beta carotene

Options :

68634035349. 1
68634035350. 2
68634035351. 3
68634035352. 4

Question Number : 38 Question Id : 6863408945 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634035349. 1
68634035350. 2
68634035351. 3
68634035352. 4

Question Number : 39 Question Id : 6863408946 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Diabetes is a

1. Genetic disorder

| ]

. Metabolic disorder
3. Genetic and metabolic disorder
4. Chromosomal disorder and digestive disorder
Options :
68634035353. 1
68634035354. 2

68634035355. 3
68634035356. 4

Question Number : 39 Question Id : 6863408946 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HYHE ¢ UP:
1. AR fdeR
2. U=yl faspR
3. AR SR Fura= [GHR g
4, TORETY [99R SR uagat) TeR

)

Options :



68634035353. 1
68634035354. 2
68634035355. 3
68634035356. 4

Question Number : 40 Question Id : 6863408947 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

An oxyhemoglobin molecule contains ?

1. Protein + heme with iron + CO,

o

2. Protein + Chlorophyll with magnesium +O,

(%]

. Lipid + Sugar + 05
4. Heme with iron + O5 + Protein

Options :

68634035357. 1
68634035358. 2
68634035359. 3
68634035360. 4

Question Number : 40 Question Id : 6863408947 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U ATaiEEnaiie s H g e
WIEH + dig gad 819 + €O,
IR + TR gad saRied +0,
T ((ATUs) + YT + 0,
4, A gFI 6H + 0, + UIeH

Options :

68634035357. 1
68634035358. 2
68634035359. 3
68634035360. 4

ik

b2

Y]

Question Number : 41 Question Id : 6863408948 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following mutations is least deleterious in a genome :
1. Missense mutation
2. Non-sense mutation
3. Silent mutation

4. Violent mutations

Options :

68634035361. 1
68634035362. 2
68634035363. 3
68634035364. 4

Question Number : 41 Question Id : 6863408948 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o= § FEfeiEd SaRad-l § 9 $H-91 a9 SiHeRS (WOTRl) 87
1. e 3aRads

3. gl Saiad

| )

c

4. 39 (dI5dc) IERad

Options :

68634035361. 1
68634035362. 2
68634035363. 3
68634035364. 4

Question Number : 42 Question Id : 6863408949 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below is the triple nature of codon. the possible permutation of four bases (A, G. T. C) 15 :

4.4%

Options :
68634035365. 1



68634035366. 2
68634035367. 3
68634035368. 4

Question Number : 42 Question Id : 6863408949 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e U UPe (BISH) DI Hmamd usld 41715 ¢ IR &bl (&R (A, G. T. ) &1 92d BH §h -

1.4°

4.4

Options :

68634035365. 1
68634035366. 2
68634035367. 3
68634035368. 4

Question Number : 43 Question Id : 6863408950 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
DNA photolyases are the enzymes that convert :
1. Pyrimidine dimers to monomers with FADH, as cofactor.

2. Pyrimidine monomers to dimers with FADH, as cofactor.

3. Pyrimidine monomers to dimers with NADH, as cofactor.

4. Pyrimidine monomers to trimers.

Options :

68634035369. 1
68634035370. 2
68634035371. 3
68634035372. 4

Question Number : 43 Question Id : 6863408950 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634035369. 1
68634035370. 2
68634035371. 3
68634035372. 4

Question Number : 44 Question Id : 6863408951 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What are the possible number of reading frames in any given double stranded DNA sequence :

1.6

a2
(5]

4.2

Options :

68634035373. 1
68634035374. 2
68634035375. 3
68634035376. 4

Question Number : 44 Question Id : 6863408951 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fepdt fau U fgRsie S1.UA.U. 3oy 4 AT By (Ue- & WIUR) B Tya e gl

1.6

| B
L]

L¥¥]
pln]

4.2

Options :
68634035373. 1



68634035374. 2
68634035375. 3
68634035376. 4

Question Number : 45 Question Id : 6863408952 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
During translation, the directionality of polypeptide synthesis is 7
1. C-terminal to N-terminal direction.
2. N-termuinal to 3' direction.
3. 5 to C-terminal direction.
4. N-terminal to C-terminal direction.
Options :
68634035377. 1
68634035378. 2

68634035379. 3
68634035380. 4

Question Number : 45 Question Id : 6863408952 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ORI & SR, TiaiPSs ey &1 fa= git -
C-RR effFm In-RR$ e d
2 N-RIR Y 3 ol fgmm o
3.5 9c-RR &l fgand
4 NRRIAcRrR¥ifeand

Options :

68634035377. 1
68634035378. 2
68634035379. 3
68634035380. 4

ik

Question Number : 46 Question Id : 6863408953 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the odd one among the following :

1. James Sumner — Urease

2

. Holoenzyme — functional enzyme plus coenzyme and/or metal ion.

3. Apoenzyme — Enzyme + prosthetic group.
4. Hexokinase — Mg®™ dependent.

Options :

68634035381. 1

68634035382. 2

68634035383. 3
68634035384. 4

Question Number : 46 Question Id : 6863408953 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FHafeiad ¥ O faun & ugaH Sifs.

1. SR JHR — gRUS
2. BT — frareiier TugH + B1-UsgH SR/3rIar UTg 2
3. QOIUSTEH — Sy - Wrelfe® §Hg
4. BFHIPIZS — Mg~ 3R

Options :

68634035381. 1

68634035382.2

68634035383. 3
68634035384. 4

Question Number : 47 Question Id : 6863408954 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The catalytic efficiency of an enzyme refers to

1 Kea
2. Kp
3. Kot Ky

4. Km,' Kcat

Options :



68634035385. 1
68634035386. 2
68634035387. 3
68634035388. 4

Question Number : 47 Question Id : 6863408954 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U UGS &1 SoRe! g&ar 9 Sfiumg g -

LK

cat
3

cat

[

[F¥]

4 Km".Kca?

Options :

68634035385. 1
68634035386. 2
68634035387. 3
68634035388. 4

Question Number : 48 Question Id : 6863408955 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

K, of an enzyme - catalysed reaction 1s :

1. Substrate concentration at which reaction rate is half of the maximum.

b

. Product concentration at which reaction rate is half of the maximum.

. Substrate concentration at which reaction rate is double of the maximum.

L%}

4. Maximum kinetic constant

Options :

68634035389. 1
68634035390. 2
68634035391. 3
68634035392. 4

Question Number : 48 Question Id : 6863408955 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634035389. 1
68634035390. 2
68634035391. 3
68634035392. 4

Question Number : 49 Question Id : 6863408956 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Identity the wrong statement about Penicillin.

1. Tt is an irreversible inhibitor

| S

It targets glycopeptide transpeptidase
3. It consists of a beta-lactam ring plus proline
4. It forms covalent bond with active site serine
Options :
68634035393. 1
68634035394. 2

68634035395. 3
68634035396. 4

Question Number : 49 Question Id : 6863408956 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
UfRTEeH & SR H Tad $YF 3 Uge i
1. UT1e Ue serqulg SRy o)
2, U, MES PSS Srauvises &l SR (TI&) FXl ¢
3. 9T ¥ v derddey aug + e glaT &
4. UATSTem, IR & Githy we R YTl sie= §41d1 o

Options :



68634035393. 1
68634035394. 2
68634035395. 3
68634035396. 4

Question Number : 50 Question Id : 6863408957 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The most abundant enzyme on Earth is

1. Carbonic anhydrase

J

. Ribulose 1. 5-bisphosphate carboxylase/oxygenase.
3. Acetylcholine esterase
4. Urease

Options :

68634035397. 1
68634035398. 2
68634035399. 3
68634035400. 4

Question Number : 50 Question Id : 6863408957 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gedl OR gad e U S arel USIgH © -

1. BIEHD TIER oW

2. ST 1.5 - [SBhe Plala e Alaie-s
G IGEREARIE RS

1 g

Options :

68634035397. 1
68634035398. 2
68634035399. 3
68634035400. 4

Tad

Question Number : 51 Question Id : 6863408958 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gmelin's test and Van den Bergh reaction are used for :

1. wdentification of bilirubin in serum and vrine. respectively.

2

. identification of bilirubin in serum only.
3. identification of bilirubin in urine only.
4. identification of bilirubin in urine and serum, respectively.
Options :
68634035401. 1
68634035402. 2

68634035403. 3
68634035404. 4

Question Number : 51 Question Id : 6863408958 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Afer wdtemr oiRk o= 39 & sifisfrar &1 v g g
1. fafersfaq @1 g IRy 3R T3 § g A & fou
2. facirefa @1 Pad URH H UgdH & & oy
3. faeiiofa &t Sad g7 & ugar &3 & fo
4. TSR B PHY: 93 SR WA § Ug9H &4 & [oU

-

Options :

68634035401. 1
68634035402. 2
68634035403. 3
68634035404. 4

Question Number : 52 Question Id : 6863408959 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following are involved m buffering our blood system ?

1. Bicarbonate / Phosphate bufters

=2

. Tris : Hel buffer
3. MOPs buffer
4. Calcium/ Magnesium buffers

Options :
68634035405. 1



68634035406. 2
68634035407. 3
68634035408. 4

Question Number : 52 Question Id : 6863408959 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fofafad I O 319 guR ¥9d dd & 34T uicRiy= @wia I gftfed g2

L m B e 5
1. digpld[Hc / BEbd dhd

2. Tris : Hel d5 2
3. MOPs @/

4. Hicggn Ty gwd

Options :

68634035405. 1
68634035406. 2
68634035407. 3
68634035408. 4

Question Number : 53 Question Id : 6863408960 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The amino acid i renal tubular cells that forms ammomia. which 1s finally excreted as NH, ™ 15 :

1. Agpartate

| B}

. Glutamate

T

. Asparagine
4. Glutamine

Options :

68634035409. 1
68634035410. 2
68634035411. 3
68634035412. 4

Question Number : 53 Question Id : 6863408960 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



qa g AT HIEe § a8 =T S O i1 &1 8.5 Sidd: NH,™ & &0 § Scfoid gidl 6.
G
1. Tmrée
2. T[T
3. USRI
4. TICHA
Options :
68634035409, 1
68634035410. 2

68634035411.3
68634035412. 4

Question Number : 54 Question Id : 6863408961 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Rifampicin inhibits :
1. Beta subunit of prokaryotic RNA polymerase
2. Beta subunit of prokaryotic DNA polymerase
3. All eukarvotic and prokaryotic polymerases
4, RNA dependent DNA polymerase
Options :
68634035413. 1
68634035414. 2

68634035415. 3
68634035416. 4

Question Number : 54 Question Id : 6863408961 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
REpTRE savs & 6:
1. Wbl 3R U U Uleliaeel i dicl 3U-galg 3l
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Options :

68634035413. 1
68634035414. 2
68634035415. 3
68634035416. 4

Question Number : 55 Question Id : 6863408962 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The acid - fastness of mycobacteria is due to :
1. Presence of mycolic acids in cell wall
2. Presence of peptidoglycan in the cell wall
3. Presence of glycoproteins in cell wall
4. Presence of glycolipids in cell wall
Options :
68634035417. 1
68634035418. 2

68634035419. 3
68634035420. 4

Question Number : 55 Question Id : 6863408962 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HSPIaacial B AT Y-HRE-9 &1 BRI ¢
 BIRrT iR & Aresifcie sl @ Sufufa
2. BifeT firht 1 Uprgshag s o Sufeufd
3. B il ¥ g e MicH 31 39U
4. BT il 1 s Hifeiis o Suftdfd

iy

)

Options :

68634035417. 1
68634035418. 2
68634035419. 3
68634035420. 4

Question Number : 56 Question Id : 6863408963 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The branch of biology that involves creation of small living organisms like mycoplasma ete. 1s called as :

1. Biotechnology

2

. Systems biology
3. Chemical biology
4. Synthetic biology

Options :

68634035421. 1

68634035422 2

68634035423. 3
68634035424. 4

Question Number : 56 Question Id : 6863408963 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
witafasi &1 95 UraT s Hg el ol 3ifd Y& weildl o1 goi- Sifed 8. s o:
1. 5ig et
2. Rreny oifa fagme

3. JEAE St
4. DA (i) sitg fag

Options :

68634035421. 1
68634035422. 2
68634035423. 3
68634035424. 4

-

Question Number : 57 Question Id : 6863408964 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which group of the antibiotics inhibit translation by binding to the 50s ribosomal subunit?

1. Erythromycin. Chloramphenicol

[ ]

. Kanamyein. Neomycin
3. Vancomycin. Cycloserine
4. Kanamycin. Vancomyein

Options :
68634035425. 1



68634035426. 2
68634035427. 3
68634035428. 4

Question Number : 57 Question Id : 6863408964 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gicolide] (TIaiicad) &1 & 1F 91 GHE USa T &1 508 SU-gilg & A1y et $d SUia] &
AFATE 2

1. BRUMS A, dNEp I
2. PSR, i

3. IR IHIS R, FgaaRH
4, HAHSRA. SR HSRA

Options :

68634035425. 1
68634035426. 2
68634035427. 3
68634035428. 4

Question Number : 58 Question Id : 6863408965 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Griven that AG = AH = TAS. with reference to it. identify the wrong statement :

1. In exergonic reaction, AG is negative.

~

2. When AG is zero, the system is at equillibriun
3. AG must be positive for the reaction to be spontancous.
4. In exergonic reaction AG is always equals to 1.

Options :

68634035429. 1
68634035430. 2
68634035431. 3
68634035432. 4

Question Number : 58 Question Id : 6863408965 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tfe - AG = AH = TAS 8. Tl 59% T<H © 7Tad SY= P! 959 SiHfag:
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—

3. Wga: Hafdaca g siftifsbar & fau AG y=1d® i1 91t

4. FHEEYT (UEG) AfNfHaT T AG U4 1 AT

Options :

68634035429. 1
68634035430. 2
68634035431. 3
68634035432. 4

Question Number : 59 Question Id : 6863408966 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The

Reaction 1 :

Glucose + P1 — Glucose-6-Phosphate + H,0

can only occur when the
Reaction 2 :
ATP — ADP +Pi

oceurs. This is because :

—

. The AGy, of the reaction 1 is negative.

| ]

. The .E.G@' of the reaction 2 is positive.

La

. The AGy; of reaction 1 is positive and reaction 2 is negative.

=y

. The ﬂGO' of both reactions 1 and 2 are negative

Options :

68634035433. 1
68634035434, 2
68634035435. 3
68634035436. 4

Question Number : 59 Question Id : 6863408966 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sfffear 1 -
TG ol + Pi — TS - 6 BIEPC + H,0 dadl aHl Bl ¥l § oie
Sffepar- 2 -
ATP — ADP + PiBldl 5|
U1 59y & Fife:
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2. HIFHAT 1 BT AG, YTTHD B

)

. HIHTT 1 BT AG, UFTE® § SR HUhT 2 BT AG, BUTHD |
4. S{fUIHAT 1 BT AG, SR U 2 BTAG, 3FI BUTES § |
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Options :

68634035433. 1
68634035434. 2
68634035435. 3
68634035436. 4

Question Number : 60 Question Id : 6863408967 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Oxidation of one molecule of FADH, 1n the respiratory chain. forms how many molecules of ATP ?

1. 1 through complex I

| ]

. 2.5 through complexes I and IV

L]

. 1.5 through complexes IT and IV
4. 2 through complexes I and III.

Options :

68634035437. 1
68634035438. 2
68634035439. 3
68634035440. 4

Question Number : 60 Question Id : 6863408967 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634035437. 1
68634035438. 2
68634035439. 3
68634035440. 4

Question Number : 61 Question Id : 6863408968 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The breakdown of the long chain fatty acids to acetyl CoA via f-oxidation takes place in :

1. The mitochondrial matrix

d

2. The endoplasmic reticulum
3. The mitochondrial inner membrane space
4. The cytosol

Options :

68634035441. 1

68634035442. 2

68634035443. 3
68634035444. 4

Question Number : 61 Question Id : 6863408968 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T Sl & auily sl Bl p-SHIRIHRU R UReEd CoA H fadsH il &:
|, Aec@Isar &1 M @feam 3
2. 3=z wfereT o
3. TTSCIIgal B 3wk (37w & Rad ®E o
4. WTgeraa o

Options :

)



68634035441. 1
68634035442. 2
68634035443. 3
68634035444. 4

Question Number : 62 Question Id : 6863408969 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Durmg glycolysis, conversion of 1 mole of fructose 1. 6 - bisphosphate to 2 moles of pyruvate. leads to the
formation of :

1. 2 moles of NADH and 4 moles of ATP

| ]

. 1 mole of NADH and 1 mole of ATP

. 2 moles of NADH and 2 moles of ATP

Lad

4. 2 moles of NADH and 2.5 moles of ATP

Options :

68634035445. 1
68634035446. 2
68634035447. 3
68634035448. 4

Question Number : 62 Question Id : 6863408969 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TSGR Iasg o 1 0 Waeid 1. 6 - [apabe & 2 Oid UEde B 9Radd $ eRA I 8ld & -
1. NADH & 2 Hidl 3R ATP & 4 TId

.NADH &1 1 115 3R ATP &7 1 HId

3. NADH o 2 HItl 3{R ATP & 2 Hid

4. NADH & 2 Hidl 3{R ATP & 2.5 Hid

Options :

68634035445. 1
68634035446. 2
68634035447. 3
68634035448. 4

[ ]

Question Number : 63 Question Id : 6863408970 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The concentration of OH™ in a solution with H™ concentration of 1.3 x 107 M is :

1.77 %1072 M

2

Tox 107 M
3.7.7x 1071 M
4.1x1007M M

Options :

68634035449. 1

68634035450. 2

68634035451. 3
68634035452. 4

Question Number : 63 Question Id : 6863408970 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
% faeae fos g i gigar 1.3 x 10 M & o1 598 ol &1 Tigar sii:
1T AT

70x 1072 M

[

3.7.7x< 1071 M

4. 1% 1009 M

Options :

68634035449. 1
68634035450. 2
68634035451. 3
68634035452. 4

Question Number : 64 Question Id : 6863408971 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IgM is a pentamer. Upon visualisation of a pure IgM by electrophoresis on a reducing polyacrylamide gel. the
number of protein bands to be visible on the gel would be :

1.5

[ )

. 10



Options :

68634035453. 1
68634035454. 2
68634035455. 3
68634035456. 4

Question Number : 64 Question Id : 6863408971 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ty

IM USh Ugda® (USHR) g | ot (s uleiusprsemgs i R Saae BRI GRI. U6
[R5 1M & Ofd © 0 WIeH gigapraf &1 Sl gl .

e

| O]
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Options :

68634035453. 1
68634035454. 2
68634035455. 3
68634035456. 4

Question Number : 65 Question Id : 6863408972 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A plot between the @ and w dihedral angles of a peptide bond 1s called as :

1. Hydropathy Plot

2. Ramachandran Plot

5]

. Volecano Plot
4. Both Hydropathy and Ramchandran Plot

Options :

68634035457. 1
68634035458. 2
68634035459. 3
68634035460. 4

Question Number : 65 Question Id : 6863408972 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U@ UYTES SER Bl ¢ 3R v fgdd DIVl & &9 &1 -1 D1 F8d o
 BIg gt T (e

2. AHT5A Wie

ok

3. AT (@ledh) wie
4. Bzl SR TS wie g

Options :

68634035457. 1
68634035458. 2
68634035459. 3
68634035460. 4

Question Number : 66 Question Id : 6863408973 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Protein folding is essential for structure and function is still an unresolved problem in biology.
Protein folding problems lead to aggregation and is a cause for many diseases :

Reason R : Levinthal's paradox 15 a theoretical calculation of the time needed for a protein to fold.
Accordingly. a polypeptide may take billions of years to fold if all the possible conformations are exercised
during protein folding.

In the light of the above statements, choose the most appropriate answer from the options given below :
1. Both A and R are correct and R is the correct explanation A
2. Both A and R are correct but R is NOT the correct explanation of A
3. A 1s correct but R 13 not correct

4. A 1s not correct but R is correct

Options :

68634035461. 1
68634035462. 2
68634035463. 3
68634035464. 4

Question Number : 66 Question Id : 6863408973 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 T T U U B, U MUY (Assertion A) P =9 § (U190 & 1 GERT 3UH BRI (Reason R) P
0o
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AT T € | FITH 90 & SRUI GIE &1 T 304 Sl © R SHP SR 3% AT 8 |

PR R: AGd foRI4THE Wi geq & oY navgs 909 &t Sgif-ad T0ET & | UIH 96d & eRE
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SURIEd DU & 3fedied, i U e fawedl § 9 9ad Iugad Ik &1 98 DIfIU:
1. A SRR A T8 € SRR AT WEl T 8

A SRR & 961 ¢ IR R, A D 6] oA ) ©

AT R APTR G TR ®

4. AT RIS AR TR &

Options :

68634035461. 1
68634035462, 2
68634035463. 3
68634035464. 4

[ ]
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Question Number : 67 Question Id : 6863408974 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One is labelled as Assertion A and the other iz labelled as Reason R.

Assertion A : Prokaryotes have three RNA polymerases. Prokaryotic RNA pol IT synthesizes ribosomal RNAs.

Reasons R : In Eukaryotes RNA Polymerase II synthesizes mRNA and 1s sensitive to low concentration of o-
amanitial.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R 1s the correct explanation of A

[ )

. Both a and R are correct but R is NOT the correct explanation of A,
3. A 1s correct but R 1s not correct.

4. A 1s not correct but B is correct.

Options :

68634035465. 1
68634035466. 2
68634035467. 3
68634035468. 4



Question Number : 67 Question Id : 6863408974 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 gl S [GU U €. U SIUBYT (Assertion A) P =Y I [¢9d ¢ ol GE ITP BRI (Reason R) P
0 H:
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IZE I 3R.UA.E. SRS Bl g

PRUTR: Tt 4 T SR.UA.U. USRS 11 mRNA HYGNT Bl 3R o-THHEA ST 3ed Jigdl & uld
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SURIgd DU & 3feied, 4 U T fawedl ¥ 9 g Iugad IR &1 98- DI
1. A SR R G 96! € SR R A S Hel A §
A SRR I TS & IR R, A T 9L e i &
ATE T TR TE R ©

AT TS e APIR TG B

Options :

68634035465. 1
68634035466. 2
68634035467. 3
68634035468. 4
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Question Number : 68 Question Id : 6863408975 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One 15 labelled as Assertion A and the other is labelled as Reason R

Assertion A : Klinefelter's syndrome have minor phenotypic anomalies with small testis and enlarged breasts.
These individuals have 47 chromosomes with 44 autosomes plus XXY.

Reason R : Males with XYY syndrome have two Y chromosomes. Such individuals have anti social behavior
and aggression. Their frequency is approximately 1 to 650,

In the light of the above statements. choose the most appropriate answer from the options given below :
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. A 1s correct but R is not correct

4. A 1s not correct but R 1s correct.

Options :



68634035469. 1
68634035470. 2
68634035471. 3
68634035472. 4

Question Number : 68 Question Id : 6863408975 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 g1 ST [T U §. U SMUHYT (Assertion A) P &4 4 [T © ¢l GERI 3TP BRI (Reason R) P
F0H:

HFUSYT A: T RigH I, sy qem et (@) fawgar g € 9 81 guur ik 9a1
G d&ree | 5 oafaadl | 47 V-G Bl ©. o 44 S U iR XXY BId B

®RUTR: XYY dld A% § &1 Y U §1d ¢ | U aafaqdl & SramHifoie aadgR SR SUal UTg 9l ¢ | 391
STl 650 H H 1 1 Bidll o

ST Sy o 3MTelied, A 3T T fawedl & ¥ Iad Iugad 9T &l 98- BIfel:
1. A 3R R &I 981 8 SR R. A &1 U8l o1 &

A SRR I T8I § IR R. A 1 U8 R 781 &

AT R AGIR TS SR

4. ATEI TE g AP R WRI ©

Options :

68634035469. 1
68634035470. 2
68634035471. 3
68634035472. 4

[ )
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Question Number : 69 Question Id : 6863408976 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion A and the other 15 labelled as Reason R.

Assertions A : Protein kinases catalyze the transfer of gamma (v) - phosphoryl group of ATP to proteins.
Serine. threonine or tyrosine are the general amino acids that are phosphorylated.

Reason R : Phosphorylation of proteins by protein kinases makes them aggregated and non-functional with
subsequent degradation.

In the light of the above statements. choose the mosr appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A

[

. Both A and R are correct but R 1s NOT the correct explanation of A
3. A 1s correct but R 1s not correct

4. A 1s not correct but R is correct

Options :

68634035473. 1
68634035474. 2
68634035475. 3
68634035476. 4

Question Number : 69 Question Id : 6863408976 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 2 $UF QU U B, U 31T (Assertion A) P =9 H [H1R9d § 1 GER 39D BRI (Reason R) P
0.
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Options :

68634035473. 1
68634035474. 2
68634035475. 3
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68634035476. 4

Question Number : 70 Question Id : 6863408977 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One iz labelled as Assertion A and the other is labelled as Reason R :

Assertion A : While the pK of a free lysine 15 10.5, the pK, of lysine decreases to 6.6 when present m the
active site of Acetoacetate decarboxylase.

Reason R : The decreased pK of lysine in the active site is due to the electrostatic effect of nearby positive
charges.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A

[ o

. Both A and R are correct but R is NOT the correct explanation of A
3. A 15 correct but R is not correct

4. A iz not correct but R is correct

Options :

68634035477. 1
68634035478. 2
68634035479. 3
68634035480. 4

Question Number : 70 Question Id : 6863408977 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 g1 S [GU U €. U SIUHYT (Assertion A) P &4 J (TR § ol T8 3HP BRI (Reason R) P
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Options :

68634035477. 1
68634035478. 2
68634035479. 3
68634035480. 4

Question Number : 71 Question Id : 6863408978 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One is labelled as Assertion A and the other 1s labelled as Reason R :

Assertion A : Sum of all the proteins functioning in a given cell is called the proteome : Proteomics is the
systematic characterization of this proteome under a given condition.

Reason R : Expression of genome under a particular condition and its translation is the basis of cell’s
proteome.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R 1s the correct explanation of A

[ B

. Both A and R are correct but R 1s NOT the correct explanation of A
3. A 1s correct but R 1s not correct

4. A is not correct but R is correct

Options :

68634035481. 1
68634035482. 2
68634035483. 3
68634035484. 4

Question Number : 71 Question Id : 6863408978 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 3 FUF AU U B, U MUY (Assertion A) P &0 J [R3d § T S8R 39D DRI (Reason R) P
04,
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PR R: 39w gfif&fa & oiqmm o siftaafdd Sk 391 -l SIfRe] & Uifedy &1 snuR eidi gl
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2. A SRR AT IS § AR R AT St rem gl ©
3. AR R OfP IR EE AR B

4 AR TS e API R TS B

Options :

68634035481. 1
68634035482. 2
68634035483. 3
68634035484. 4

Question Number : 72 Question Id : 6863408979 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One 15 labelled as Assertion A and the other 1s labelled as Reason R:

Assertion A : Treatment of monosaccharides with sodium amalgam reduces their aldehyde and keto groups to
corresponding aeid :

Reason R : D-Dulcitol and D-Sorbitol are the corresponding aleohols of D-galactose and D-glucose,
respectively.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A

-2

. Both A and R are correct but R 1s NOT the correct explanation of A
3. A 1s correct but R 1s not correct
4. A is not correct but R 13 correct

Options :

68634035485. 1

68634035486. 2
68634035487. 3



68634035488. 4

Question Number : 72 Question Id : 6863408979 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 gl ST [4U U &, U SIUHYT (Assertion A) P & I [¢R3d § 0l GER 3HP BRI (Reason R)
0 H:
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Options :

68634035485. 1
68634035486. 2
68634035487. 3
68634035488. 4
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Question Number : 73 Question Id : 6863408980 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Malate. Fumarate and succinate precede the formation of oxaloacetate in the citric acid cycle. Find the option
which shows correct order of their formation in the citric acid cycle.

A, Malate
B. Fumarate
C. Oxaloacetate
D. Succinate
Choose the correct answer from the options given below :
1.D,B.AC
2.D,B.C.A
3.B.D.C.A
4 B.D.A.C

Options :



68634035489. 1
68634035490. 2
68634035491. 3
68634035492. 4

Question Number : 73 Question Id : 6863408980 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TIgicd 3t 9 O Hoje, WHE 3R "idg-e, siaddl uide 9 9d ad o | f4u U [deedl & 4 39
faared &1 90 IToTd foraH ASicd i 99 | 5% o+ &1 Jol 4 foal T g

e feu U fawedf § 9 el 3w &1 99 Sifoie:

1.D.B.A.C
2.D.B.C.A
3.B.D.C.A
4.B.D.A.C

Options :

68634035489. 1

68634035490. 2

68634035491. 3
68634035492. 4

Question Number : 74 Question Id : 6863408981 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Phosphoryl transfer reactions are essential for the energy content of a cell. Find the correct answer in which
the following phosphorylated molecules have been arranged in a decreasing order of their phosphoryl transfer
potentials :

A. Adenosine triphosphate

B. 1. 3-bisphosphate glycerate
C. Phosphoenol pyruvate

D. Glucose - 6 - phosphate

E. Glucose - 3 - phosphate

Choose the correct answer from the options given below :
1.C,B.AD.E
2.B.C.A.D.E
3.B; C, Dy AE

4.C.B.D.AE

Options :

68634035493. 1
68634035494. 2
68634035495. 3
68634035496. 4

Question Number : 74 Question Id : 6863408981 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HITDT Bl FHol AP & [0 BIEPIRa RIFR STHHaTE Sawa® ¢ | FafaRad Biepiikiaea s
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- fau Y fawent | ¥ el IR & 794 DI

1.E,B.ADE

2.B,C.AD,E

3B, C.D.AE

4. C.B.D.AE
Options :

68634035493. 1
68634035494. 2



68634035495. 3
68634035496. 4

Question Number : 75 Question Id : 6863408982 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In analogy with central dogma of biclogy. how will you arrange the following omics in a correct sequence :

A, Metabolomics

B. Proteomics

C. Genomics

D. Transcriptomics

E. Phenotype or phenomics

Choose the correct answer from the options given below :
1.B.C.D.E.A
2LCEB.D.AE
3.C, LB AE
4. C.E.B.A.D

Options :

68634035497. 1
68634035498. 2
68634035499. 3
68634035500. 4

Question Number : 75 Question Id : 6863408982 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Gitg faem & oo fer (ded s 9 & ey FRafaiRad siiHiey weaf @ sHaR ouaffud Hifo:
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E.B.DAE
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4 C,E.B.A,D



Options :

68634035497. 1
68634035498. 2
68634035499. 3
68634035500. 4

Question Number : 76 Question Id : 6863408983 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Nucleotides. Nucleosides. purines and pyrimidines are the building blocks of DNA and RNA. Based on their
molecular weight, arrange these molecules in an ascending order.

A, Purine

B. Nucleotide
C. Pynmidme
D. Nucleoside
E. Phosphate

Choose the correct answer from the options given below :

LA C D B.E

| )

CACB.CODLVE
3EADB.C
1. E.CA DB

Options :

68634035501. 1
68634035502. 2
68634035503. 3
68634035504. 4

Question Number : 76 Question Id : 6863408983 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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14 fau U faeedl | 9§ T8l 3R &1 99+ Dol
1.LACDB.E
2.A.B.C.D.E
3.E.A.D.B.C
4.E.C.A.D.B

Options :

68634035501. 1
68634035502. 2
68634035503. 3
68634035504 4

Question Number : 77 Question Id : 6863408984 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Reverse transcriptase is used for synthesizing cDNA from RNA. Which of the following option represents the
correct order of the given steps?

A. Annealing of the oligo dT primer to mRENA

B. DNA polymerase I and dNTPs form ds DNA

C. Reverse transcriptase forms the complementary single stranded DNA
D. mRNA is degraded with alkali

E. Downstream analysis of dsDNA

Choose the correct answer from the options given below :
1.A.C,D.B.E
2AED.B.C
3. DA €. B E
4. B.C.A.E.D
Options :
68634035505. 1

68634035506. 2
68634035507. 3



68634035508. 4

Question Number : 77 Question Id : 6863408984 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

cDNA 9§ RNA 90T H [qelid 3cia (Rad ¢™ishPd) &1 YaRT fhar ol ¢ | =i af 71g (ohansi &)
el I H Fafud HIfT:

A. ST AT FUhHD] (WISHR) BT mRNA H AR (3FHifeRT)

B. DNA TT@HYST I 3R ANTPs ¥ ds DNA &1 31

c. feay soas (Ras D) I e U9 d Iel® DNA F a4
D. &Id gRI mENA & HYHCH

E. dsDNA BT Syare faweiwo

-t feu TIY fawent & ¥ el IR &1 794 DI

1.LACDBE

[ )

_A.E.D.B.C
3.D.A.C.B.E
4.B.C.A.E.D

Options :

68634035505. 1
68634035506. 2
68634035507. 3
68634035508. 4

Question Number : 78 Question Id : 6863408985 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



DNA cloning 1s an essential tool in recombinant DNA technology. Arrange the different steps of DNA cloning
in proper sequential order.

A Restriction digestion of the mnsert and plasmid.

B. Selection of the host cells or transformants having the recombinant DNA
C. in vitro DNA ligation

D. Transformation of the ligated DNA.

E. Confirmation of recombinant DNA by sequencing.

Choose the correct answer from the options given below :
1B, C, DA E
ZADCEDB
3.A C.D.B.E
4 B.AD CE

Options :

68634035509. 1
68634035510. 2
68634035511. 3
68634035512. 4

Question Number : 78 Question Id : 6863408985 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DNA Il G@-11% H DNA FaIH1 U8 HTa20s WItF & | DNA Fl-1 & Fafafad =l o 3fad
3IepH T oafRyd Sifom|

A. G (399) IR WfoHs &1 idee= 9=

B. QIS S1.UA.U. 9Tl Sqia<ail a1 gl Sifkiesrs &1 9e-
C. SLUA.T &I U (g7-fach # gs

D. §[S- alel DNAST FUidRul

E. S{H0 gRT IS SLUA.T 31 9fe
i fau U faeedl | 9§ I8! 3Tk &1 99+ Dol

1.B.&.D.AE

2.A.D,C EB

LA CDB.E

4. B.A.D.C.E
Options :
68634035509. 1

68634035510. 2
68634035511.3



68634035512. 4

Question Number : 79 Question Id : 6863408986 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hydrophobic nature of amino acids affects the tertiary structure of proteins. Which of the following option
shows the given amino acids in decreasing order of their hydrophobic character 7

A. Leucine

B. Phenylalanine
C. Glycme

D. Histidine

E. Lysine

Choose the correct answer from the options given below :

LA CE DB

| )

BaAdhE
3.B.E.D.C.A
4.A.B.D.C.E

Options :

68634035513. 1
68634035514. 2
68634035515. 3
68634035516. 4

Question Number : 79 Question Id : 6863408986 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TIEH &1 ot A1 &1 AL o] B Jayie Ueia THIiad Sl ¢ | FafiRad s ol Bl
ST SafdRie Uepfd & ued o H saafyd Sifee.

A TgEA

B. fis15d UaHH
C. TSHE
D. [eieH
E. @59

- feu Y fawent | ¥ el IR &1 =794 B

1.AC.,B.D.E

2.B.A.C.D.E
3.B.A.D.C.E
1. A.B.D.C.E

Options :

68634035513. 1
68634035514. 2
68634035515. 3
68634035516. 4

Question Number : 80 Question Id : 6863408987 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Cooperativity in receptor - ligand interaction causes large change in receptor activation with
small change in ligand concentration.

Statement II : In amplification, the enzyme associated with signal receptor 1s activated which m turn activates
many downstream enzymes in a so called enzyme cascade.

In the light of the above statements. choose the correct answer tfrom the options given below :

1. Both Statement [ and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is frue but Statement II 1s false
4. Statement I 15 false but Statement IT is true

Options :

68634035517. 1

68634035518. 2

68634035519. 3
68634035520. 4



Question Number : 80 Question Id : 6863408987 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIEE $W%EHQ%F:

&Y 1: Tol-forls yraiie o o geaifvar, forfs gigar o o yRadT & gy gt afpaor d 98
EGRERA ARG ER IR

Y I1: Yae- 5, Hebd Ulel § ST USISH Hichd BId1 5. Wl §a0 & T aUibiyd UHIgH $&bs 1§ By
SIS Y (SUATE) USIgH! ®1 Hichd Har 3 |

IRITT BYF & AP H, A G0 ¢ [dwedl § I Tl 31 BT 99 DI
1. YIRS I g

2. HYT TR SHI 3T &

3. PYTITI B, Al HUT 11 3T &

4. FYT T 5. Al YT 11 9 ©

Options :

68634035517. 1
68634035518. 2
68634035519. 3
68634035520. 4

Question Number : 81 Question Id : 6863408988 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements ;

Statement I : Phototrophs and chemotrophs derive their energy from sunlight and chemical fuels.
respectively.

Statement II : Phototrophs and chemotrophs cannot be autotrophs but only heterotrophs.
In the light of the above statements. choose the correer answer from the options given below :

1. Both Statement [ and Statement IT are true

-

. Both Statement [ and Statement IT are false

3. Statement I is true but Statement I1 1s false

4. Statement I ig false but Statement II is true



Options :

68634035521. 1
68634035522. 2
68634035523. 3
68634035524. 4

Question Number : 81 Question Id : 6863408988 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 3 By AT U €

BT L TR 2R 3G S0 e Haw: T & Ue SR IEEEE Sea S e aRa g
SY I1: Y1l SR [ &l wdil 781 €1 od $iR dad fayndid gid &

SWRIGd DY & el H, A= U T fad el § 9 98l 3wk &1 994 Difeu.

L BUFIMR I ZAI 90§

PYT R 1 ST S ©

[ ]

FYT I I, AfpTeYT I 3Ed ®

[#%]

4. PYTI T S, AfpT PYT I T &

Options :

68634035521. 1
68634035522. 2
68634035523. 3
68634035524. 4

Question Number : 82 Question Id : 6863408989 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I : In all naturally occurring 20 amino acids, both carboxyl and amino groups are bonded to the o-
carbon.

Statement ITI : According to organic chemistry IUPAC nomenclature. -carbon 1s also the C-1 carbon of an
amino acid.

In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement I and Statement IT are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

Options :

68634035525. 1

68634035526. 2

68634035527. 3
68634035528. 4

Question Number : 82 Question Id : 6863408989 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIEE 5‘&7”2(@@%:

HY I WIHTad &9 Y Y o1 ardd T4 20 31 el H Pralioud SR SHH 9598, Gl o Plad 8
31& §91d €1

EI‘TQFI%H: HIad A DI TUPAC THGIU UG (A & SHTHR U@ I 3 & o Plad C-1 Flad 4
gidl gl

IR HYF & Ml H, Ad i3 70 [dsed] 4 9 gt 3wk &1 99 Sifo:

1. U1 AR 11 G T &

2. DY AR I SH 3§

3. HYF1 9 8. Wi BUT I 9 §
4. YT HFA . W YT FA T

Options :
68634035525. 1



68634035526. 2
68634035527. 3
68634035528. 4

Question Number : 83 Question Id : 6863408990 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements :
Statement I : The peptide bond Cu-C-N-Co present in proteins is rigid and planar.
Statement IT : Proteins are highly dynamic and undergo large conformational changes.
In the light of the above statements. choose the correct answer from the options given below :
1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false

3. Statement I is true but Statement IT is false

4. Statement [ 13 false but Statement IT 1s true
Options :
68634035529. 1
68634035530. 2

68634035531. 3
68634035532. 4

Question Number : 83 Question Id : 6863408990 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
< 3l By R g &:
HY 1: Ui T QUG UPTE S HEY Co-C-N-Co 6 AR RIFR 3164 &
FYA I1: UidH e niaeiid 8d § iR 378 a8 9= guds uiigd- eid 8d o
SWRIEd DY & el H, A= U e fae el & I 98l 3or &1 99 Do
1. YT AR I A 9 &
BY 1 RIS S &

[ )

FYTI TS AT YT HEI ©

Lad

4 PYFTI TS AT HYT I T B

Options :
68634035529. 1
68634035530. 2



68634035531. 3
68634035532. 4

Question Number : 84 Question Id : 6863408991 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Major Histocompatibility Complex (MHC) is present on the cell surface of T-cells for antigen
recognition.

Statement II : During organ transplantation. the major Histocompatibility Complex (MHC) is involved in
allograft rejection.

In the light of the above statements. choose the correer answer from the options given below :

1. Both Statement I and Statement II are true

b2

. Both Statement [ and Statement II are false
3. Statement I is true but Statement I1 is false

4. Statement I is false but Statement 11 1s true

Options :

68634035533. 1
68634035534. 2
68634035535. 3
68634035536. 4

Question Number : 84 Question Id : 6863408991 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YA L: G AP GUISTd] DIFQISH (MHC). Uids- 1 Ug=H & [o1U T-SIfRrb13(f &1 111 9dg §
SURYT BT 5|

gﬂu:@n:%w@w%éﬁm.&mﬁﬁqmm@ﬁﬁﬁg@immmm
|

IR HYF & HATdlP |, Ard fGu 0 [dsedi § T gl 3wk &1 994 BIfu:
1. PYTI AR I SH 9 &

2. BYTI AR IS 3T E

3. YT I IO €. Al PUT I 3T &

4TI 3EIE. AT P I I B

Options :

68634035533. 1
68634035534. 2
68634035535. 3
68634035536. 4

Question Number : 85 Question Id : 6863408992 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Chymotrypsin hydrolyzes peptide bond through the formation of a transient covalent acyl-
enzyme intermediate.

Statement II : This type of mechanism in enzyme catalysis iz operative in all the enzymes in biology.
In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true

2. Both Statement I and Statement II are false

3. Statement [ is true but Statement II 1s false

4. Statement I 15 false but Statement IT is true

Options :

68634035537. 1
68634035538. 2
68634035539. 3



68634035540. 4

Question Number : 85 Question Id : 6863408992 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬂii?flaizFTfETITﬂlﬁi

HYT I: FISHICEA, PSS 8¢ &1 309 U HRR Hadf Ge-90iee Uged Uued & 64 &
OreaE Y Rl gl

Y I1: Siiafaa ¥ TTsd IAR0 § 50 SR o fearfafe gt toea! & afey siar g
QRIGT BYF & ATAIP B, Aid 14U 7T [deed] § 9 Gel 3R &I 9g B0l
. PYTI AR TSI 9T &

2. BYTI AR ST 3T T
3 EYTIgOE. AT PU I 3Ea ©

4, PYTI TS, AT P 1 T ©

Options :

68634035537. 1
68634035538. 2
68634035539. 3
68634035540. 4

Question Number : 86 Question Id : 6863408993 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I : Sanger's chain termination method is used for sequencing of a single stranded DNA by using
nucleotides and short DNA stretches.

Statement II : Sanger's protein sequencing method uses 1-fluoro-2. 4-dmitrobenzene. dansyl chloride and
nucleosides for protein sequencing.

In the light of the above statements. choose the correcr answer from the options given below :

1. Both Statement I and Statement II are true

-2

. Both Statement [ and Statement IT are false
3. Statement I i3 true but Statement II 1s false

4, Statement I 15 false but Statement II 1s true

Options :

68634035541. 1
68634035542. 2
68634035543. 3
68634035544. 4

Question Number : 86 Question Id : 6863408993 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SYF I: Y[KISCISSY SR Y DNA GUS[ & gRI TR &I 2ad GHY- [dfe o1 9T Udhd I=id
SILUAL, T SHHY & L g1 S o |

FYF IL: UITH P SFIHHU & [0 TR DI WEH S A § 1-0R1, 2.4 STEAECld-l-, S-aEd
FARIZS SR a3 HIgS &1 Wil 64l Sl 6|

IR HYF & ATdlP 8, Ad [Gu U [dsedi § O gl 3Tk &1 99 Do -
1. PYTI RIS 9 §

2. YT 1 3R 11 ST A ©

3. YT GO 8. AfpT HUT I 3T &

4. BT R AT P 1 a8

Options :
68634035541. 1
68634035542. 2



68634035543. 3
68634035544. 4

Question Number : 87 Question Id : 6863408994 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What is true about bacterial DNA-dependent RNA Polymerase.

A It is an oligomer of approximately 400KDa.

B. Its beta(B) subunit together with Mg~ converts ribonucleotides into RNA.
C. g-amanitin strongly inhibits the enzyme.

D. The enzyme can also form DNA from RNA.

Choose the most appropriate answer from the options given below :

1. B and C Only

| )

. Cand D Only

3. Aand B Only

4. A, B. and D Only
Options :
68634035545. 1
68634035546. 2

68634035547. 3
68634035548. 4

Question Number : 87 Question Id : 6863408994 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Siarordia 81 vF U anerfiid 3R U9 U OTd e & aR § # 9el 82
A. T8 SHFG: 400KDa &1 U HTAIH 51
B. 391 €T (B) 3T §Ts Mg~ & 9Ty diel () Ugal-gfasierssy @ RNA H uRafdd &l g1

C. o-TAFEH Tadl T UosH &I FRIY SR B |
D. U8 Us5H RNA I DNA i g1 9&ar g

i fGu T [dPedl § 9 Tl 3R &1 99 BIfU:
1.®ad B AR C

.Pad C AR D

At A 3R B

4. %ad A. B 3R D

| ]

[#%)

Options :
68634035545. 1



68634035546. 2
68634035547. 3
68634035548. 4

Question Number : 88 Question Id : 6863408995 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For the respiration of two proteins with same molecular weight, which of the following techniques could be
used :

A, 5DS-PAGE

B. ID-5DS-PAGE

C. Mass spectrometry with liquid chromatography.
D. Gel filtration.

E. Gel filtration and SDS-PAGE.

Choose the correct answer from the options given below :

1. E. A Only

|

.A. D Only

L]

A, B Only
4. B and C Only

Options :

68634035549. 1
68634035550. 2
68634035551. 3
68634035552. 4

Question Number : 88 Question Id : 6863408995 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T UMK gl 1 W 3 Juadu & fau Fafala 3 9 Sl ae-ie ST ardl &

A. SDS-PAGE

B. 2D-SDS-PAGE

C. 5d PIHCHTD! & WY FoHH WaeH
D. oid e

E. Old fA%e 3iR SDS-PAGE

=< fau e fawent | ¥ el S &1 997 S
1. BaU E AR A

. Had A 3R D

A AR B

4. %aaB AR C

Options :

68634035549. 1
68634035550. 2
68634035551. 3
68634035552. 4

[

Lad

Question Number : 89 Question Id : 6863408996 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hydrophobic effect has a major role in the stabilization of three dimensional structure of proteins. Which of
the following amino acids form part of this effect :

A Glycine, Alanine. leucine

B. Valine. Methionine. Isoleucine

C. Tryptophan. Tyrosine. Phenylalanine
D. Tryptophan, Proline. Phenylalanine
E. Tyrosine. Serine, lysine

Choose the correct answer from the options given below :

1. A, B. D Only

| B

.A. B Only
3.C.E Only
4. E. B Only

Options :

68634035553. 1
68634035554. 2
68634035555. 3
68634035556. 4



Question Number : 89 Question Id : 6863408996 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e @t Hremard SRa & fRufexe ¥ g gue o ggd Jfie g Fefa d s enen 9
ST T S UG PIUFTEd & -

A, TS, TeHE, TggH

B. Jai. HifaEE, sTsgegsd

C. fepIth. TR, fhAgauaHiEa
D. [¢PIthH. Widi, fhargaua-=

E. TR, SR, fgdH

e feu U fao el & 8 gl 3TR &1 98- i
1. Pad A B AHRD
2. PaAASRB
3.%9d C 3RE
4. BAUE R B

Options :

68634035553. 1
68634035554. 2
68634035555. 3
68634035556. 4

Question Number : 90 Question Id : 6863408997 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sickle cell anemia causes sickling of the RBCs. Which of the following 1s not correct for the disease ?

A. Haemoglobin forms large aggregates.

B. Disease does not affect the oxyhaemoglobin but decreases solubility of deoxyhaemoglobin.

C. The enhanced aggregation propensity is due to the hydrophobic effect of the underlying mutation.
D. The patients are more prone to malaria.

E. The disease is not curable

Choose the correct answer from the options given below :

1.A.B.C Only

| §)

.C.D.E Only
3.D. E Only
4. B, C Only

Options :



68634035557. 1
68634035558. 2
68634035559. 3
68634035560. 4

Question Number : 90 Question Id : 6863408997 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Hid 3T 7T fasedl § T 9el IR &1 999 SIoI:
1. ¥ A B3R C
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3. Had D SR E

4. HaAB 3R C

Options :

68634035557. 1
68634035558. 2
68634035559. 3
68634035560. 4

{ ]

Question Number : 91 Question Id : 6863408998 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements together describe the integral membrane proteins :

A. Form main component of the biological membranes

B. Are soluble in aqueous solutions

C. Mostly composed of polar amino acids and are lysine rich.
D. Are soluble in sodium dodecyl sulphate (SDS)

E. Form aggregates in aqueous solutions.

Choose the correct answer from the option given below :
1. A,D.E Only
2. C.D.E Only
3.B.C.D Ouly
4. A.D. E Only

Options :

68634035561. 1
68634035562, 2
68634035563. 3
68634035564. 4

Question Number : 91 Question Id : 6863408998 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. %A D, E 3R C
3. %adB.C AdRD

4. B A. D IRE

Options :

68634035561. 1
68634035562. 2
68634035563. 3
68634035564. 4



Question Number : 92 Question Id : 6863408999 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following are true for Nucleosomes ?

A Protein bodies

B. Protein - DNA complexes

C. Nucleic acids are covalently linked to proteins

D. Protein octamers are wrapped with approximately 200bp of DNA.
E. 10 nm fibers for DNA packing

Choose the correct answer from the options given below :

1. A.B.D Only

| B

.B.D. E Only
3.C.D. E Only
4. A.C. B Ounly
Options :
68634035565. 1
68634035566. 2

68634035567. 3
68634035568. 4

Question Number : 92 Question Id : 6863408999 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i 8 U eH-5H 4 [deey YfFasiung & R 3 98l 6 2
A HIEH TUs midH arsh
B. HIcH SIL.UA.UHIEiay
C. Ui ¥ gg-gaiell &9 § §S gU gfdad 3

D. B1.TA.T. & T 200 §1U1 H fAUC g HICH pas
E. SITA.U Ufd & AU 100m W (BIEa3)

i [0 7T [doed] § U Ugl 3R & 99 Dioid ;
1. Had A. B 3R D
2. $adB.D AR E
3.%9d C. D HRE
4. BAAA. C IR B

Options :
68634035565. 1
68634035566. 2



68634035567. 3
68634035568. 4

Question Number : 93 Question Id : 6863409000 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Restriction enzymes are the enzymes that ;

A. catalyze restricted reactions in DNA replication.
B. are essential tools in biotechnology

C. were discovered by Sanger and Pauling

D. Cut DNA specifically

E. are the immune defense mechanism in bacteria.

Choose the correct answer from the options given below :

1. B, D, E Only

[ ]

.C. D, E Ouly
3.A B Only
4, C.D Only

Options :

68634035569. 1
68634035570. 2
68634035571. 3
68634035572. 4

Question Number : 93 Question Id : 6863409000 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfade Togy @ U9gy g ofl:

A, SLEA.U Hiaglanm O wfdee siliars ol Soiid ®ed & |
B. G Hreliiest & HTawad I |

C. SAP! @el YR AR i gRT BT 7S o |

D.BIUAU & faRF U I Hred gl

E. Sitaru]sff & wioRen grem = 5

i fGU U fasedi | 9 Hel 3 &1 99+ Difult:
1. %0 B.D AR E

.$dd C, D, E

3. PaAAIRB

4. %ad C IR D

2



Options :

68634035569. 1
68634035570. 2
68634035571. 3
68634035572. 4

Question Number : 94 Question Id : 6863409001 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST1 LIST I1
Aversion to water I |DNA content of cells
Levinthal paradox | II. | Hydrophobic effect
C-value paradox II1. | Protein conformations

o ofw[>

F.amachandran plot| IV | Protein folding

Choose the correct answer from the options given below:

1. A-I. B-IV. C-II. D-IIT

| B

. A-ILL B-IV. C-1. D-III
3. A-I, B-IIL. C-II, D-IV
4. A-IIL. B-IL. C-I. D-IV

Options :

68634035573. 1
68634035574. 2
68634035575. 3
68634035576. 4

Question Number : 94 Question Id : 6863409001 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=t 11 gE 11 ¥ e S

T 1 T 11
ERERCRES] I [@IRE H ST @ 3]
cifdud faemyrg| 1. [Fayies gyre
c-A faRremyg | 1. [ieE g
MHdgT @ic | IV. [pidH aoq

Fafaiad [deedl § 9 98! 3Tk &1 90+ Sifu -

1. A-I. B-IV. C-II. D-III

ofo]w[x

2. A-IL B-IV, C-1. D-III
3. A-L. B-III. C-II. D-IV
4. A-IIL, B-11., C-1, D-IV

Options :

68634035573. 1
68634035574. 2
68634035575. 3
68634035576. 4

Question Number : 95 Question Id : 6863409002 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Histidine L |pK,6.0
B. |Lysine I | K, 106
C. | Tyrosine I [pK, 4.1
D. |Aspartic acad | IV, |pK; 10.9

Choose the correct answer from the options given below:

1. A-I, B-II. C-IV. D-III
2. AT B-TV. C-IT1. D-1
3. A-IILL B-I1. C-IV. D-1I
4. A-I. B-II. C-IIL, D-IV

Options :

68634035577. 1

68634035578. 2

68634035579. 3
68634035580. 4



Question Number : 95 Question Id : 6863409002 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 11 gat 11 ¥ e Sifo

a1 T I
Reter T [pK, 60
SIECIG I |pK, 106
HEREIE] 1L | pK,; 4.1
eI 3 | IV jpK, 10.9

FafcRad [doedl § O 9g 30 &1 99 Bl

1. A-I. B-1I. C-IV. D-IIT

=

ol ofw

[ ]

AL B-IV. C-IILL D-1
3 A-IL B-I1. C-IV. D-I
4. A-L B-1I. C-IIL. D-IV

Options :

68634035577. 1
68634035578. 2
68634035579. 3
68634035580. 4

Question Number : 96 Question Id : 6863409003 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST1 LISTII
A | X-ray crvstallography | 1. | Molecular weight determination
B. | Mass spectrometry II. | Protein detection
C. | Gel filtration 111 | Protein structure
D. | Western blotting IV, | Protein purification

Choose the correct answer from the options given below:

1. A-II. B-1. C-III. D-IV

| )

CA-IV. B-II1, C-I1, D-I
3. A-I. B-IL. C-III, D-IV
4. A-III, B-1. C-IV, D-II

Options :

68634035581. 1

68634035582. 2
68634035583. 3



68634035584. 4

Question Number : 96 Question Id : 6863409003 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=il 1 1 gH 11 H faH Sifsm

T T T 11
A [x & it 1 [3yR &1 R
B. [go0aH ({1H) WEEHE | 1L [9idE & §id @]
C. [5a Feed (Beegqy | I [ 3=
D. [a%H saiteT V. [AreE =g
Fafafad [deeal § U 98l SR &1 99+ I -

1. A-Il. B-1. C-III. D-IV

| B

CA-IV, B-ILL C-I1L D-1
3. A-L. B-II. C-IIL. D-IV
4. A-IIL B-1. C-IV, D-II

Options :

68634035581. 1
68634035582. 2
68634035583. 3
68634035584. 4

Question Number : 97 Question Id : 6863409004 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A | Caspases I. | Degradation
B. | Proteases II. | Replication
C. |Palymerases | IIL | Signalling
D. | Kinases IV. | Apoptosis

Choose the correct answer from the options given below:

1. A-IV, B-11, C-1. D-III

| B

CA-IV. B-IIIL C-I0, D-1
3. A-IV. B-1, C-III. D-II
4. A-IV. B-1. C-I1, D-III

Options :
68634035585. 1



68634035586. 2
68634035587. 3
68634035588. 4

Question Number : 97 Question Id : 6863409004 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 11 gat 11 ¥ e Sifo

a1 T I
CE] L [agges

Al
B. [Hifcusl 1. [Hiddiig

C. [aremE 111 [ddbaq

D. [prEd IV, [TUigig

Frafafed faeel § 3 98t Ok &1 98- BIfv

1. A-IV. B-11. C-1. D-III

| B

CA-IV, B-1IIL C-I1, D-I
3. A-IV. B-I, C-III, D-II
4. A-IV. B-1, C-11. D-III

Options :

68634035585. 1
68634035586. 2
68634035587. 3
68634035588. 4

Question Number : 98 Question Id : 6863409005 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST IT
A | Thiamine pvrophosphate 1. | Glvcogen phosphorylase
B. | Pvridoxal phosphate II. | Pyvruvate carboxylase
C. | Biotin IT1. | Lactate dehvdrogenase
D. | Nicotinamide adenine dinucleotide | IV, | Pyvruvate dehvdrogenase

Choose the correct answer from the options given below:

1. A-IV, B-II. C-III, D-I

| )

A-TV, B-1, C-II. D-II1
3. A-I. B-IL. C-III, D-IV

4. A-1. B-III, C-IV, D-II



Options :

68634035589. 1
68634035590. 2
68634035591. 3
68634035592. 4

Question Number : 98 Question Id : 6863409005 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=il 11 gH 11 9 faH S
1 il
A [UHH UGS 1 [es®icH BIRERsOA
B. [T=diSiadd BhiEpe 1. [II5Ede SElaa
C. [@ifed 111 [d&e fSegaifad
D. [MapiiduEs UeHH sEldcdieRs| IV, [ieEde [Seraifad
Faiciad fdeedl § 9 98t GoR @1 991 Hifl :

1. A-IV. B-11. C-1I1. D-1

| B

ATV, B-1. C-II. D-III
3. A-L, B-II. C-III, D-IV
4. A-I. B-IL C-IV, D-II

Options :

68634035589. 1
68634035590. 2
68634035591. 3
68634035592. 4

Question Number : 99 Question Id : 6863409006 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LIST I1
Fatty acids I | Tetracycline, Aflatoxin B
Glycerolipids | II. | Oleate, Stearovl-CoA
Saccharolipids| II1 | Triacviglveerols
Polyketides IV | Lipapolyvsaccharide

o[o[w] >

Choose the correct answer from the options given below:

1. A-III. B-II. C-I. DIV

{ )

CA-IL B-IIIL C-1, D-IV
3. A-IL B-II1. C-IV, D-I
4. A-IIL B-1II. C-IV. D-1

Options :

68634035593. 1
68634035594, 2
68634035595. 3
68634035596. 4

Question Number : 99 Question Id : 6863409006 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 11 gat 11 ¥ e Sifo
qal 1 T I

ERIREE ] 1. [¢erE T, THIeiR B,
FereRifaisg | 1 [siifeme, Redivad- coa

o

dbifaitgy | UL Fruagaiaas

Oicidiegad | IV. [[oamiciaeis s
Fafafad [deedl § O 98! 3R &1 94 SI

1. A-III. B-II. C-1. D-IV

PIRCIE

[

CA-IL B-1IIL. C-1. D-IV

Lad

CA-IL B-IIIL C-IV. D-I
4. A-IIL B-II. C-IV. D-I

Options :

68634035593. 1
68634035594. 2
68634035595. 3
68634035596. 4



Question Number : 100 Question Id : 6863409007 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
A Type II restriction I Removes nucleotides from 3°
" | endonuclease " |ends of duplex DNA
- Removes nucleotides from the 3°

E. | DHalgae 2 ends of a DINA strand

¢ | Exonuelease III e Cleaves DNA at specific base

sequences
D. | Bacteriophage 7 exonuclease | IV, |Jowns two DINA molecules

Choose the correct answer from the options given below:

1. A-IIL B-IV. C-II, D-I
2. A-IV. B-III. C-II. D-I
3. A-IL B-II1, C-IV, D-I
4. A-1, B-II, C-III, D-IV

Options :

68634035597. 1

68634035598. 2

68634035599. 3
68634035600. 4

Question Number : 100 Question Id : 6863409007 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=il 1 61 YEI 11 W e siforn

T ¥ 1L
PP ———— . gﬁwﬁmuﬁiﬁ?@m
oy F— N éw:rlz TS & 3 AR U fdmieRey
C. [T 1L ﬁﬁ]‘@&lﬁ&a’;ﬂfﬁﬁmﬂ P (4G
- SIS (FaRATE) & IV. Q1S e Hogeh ot sl

Fafiiad faeeal 4 4 981 3ok &1 904 iy :

1. AL B-TV. C-I1. D-I

| B

CA-IVC BAIILL C-I1L D-1
3. A-Il. B-IIL. C-IV. D-I
4. A-1, B-11. C-IIIL, D-IV

Options :

68634035597. 1
68634035598. 2
68634035599. 3
68634035600. 4




